2022

AR [ BEDH RNEITE X

(B#RZR)

09H04




fEE 2 fn B | D FEFEHE

WS:EE WD:E G RHARERE

IR

PM10 WS -o- RH <€~ WD xﬁ =y
100 8 100 25T ﬁ.
.--..—--.-..._.
o—o—* Ny
75 .\ 6 80
- == =
" L ] o I ——
: oo A HE#EMRE 0 mm
8o " > £ S
Z 50 4E 60 T
i, /> N 2 [
o N“i = N 7
25 2 40
>
. 3 .
0 0 20
. 0 2 4 6 8 10 12 14 16 18
’ Time (hr)
( PM10 WS -8~ RH <~ WD x jﬁb
N— 100 o—0—o 8 100 i)
/o/ —0—e,
0—g—0 o.\.
75 \ 6 80
T . HZE1ERE 0
- \, . ZER= mm
2 so S o 4 E 60 =
= o~ < z
E = K < ﬂ)»
T
25 > - 2 40
- 7 >,
g8
0 0 20
0 2 4 6 8 10 12 14 16 18
Time (hr)
ERRIEIRAREZE R E A ERRREIRAREERmE L

DI



BTE
MmEAE LT

111/08/25

B=E BHE ’
1R ERBh (745 zes) ETilF | _ Eﬂ%ﬂﬁiﬁ‘é |

AR
~

o

| 111708725 = i 111708/ 1 RLEES/25- 9N



K

ot |

ER B

F1E ZRM
11148H8H PLANT

SHIiE LIEE K

REmBK L _STEEIE KX BE

0.62
HEH B 108158 14

0 02 04 06 08

PSP

$4E 1TIEE

55 & FEEIR

BS5E RAM




111FE
AEKPIEEE

> EE . EEE - 400 A BiZE:4 A8
- B=R-  AE « B 45528

R . BRI :113.8 %

et ¢
Ty o

b4 v _4."1 2
oY Rlis gt gt
1E e =
n“s L

HiR{H : 450 AlH - BRE: 2528 - BR{E:50 2tH
- B :27.2 AMH - BExK:1.18AE - B5%EK:6 QLA

+ ERE6% . ERE:47.2% + ERE:12%




.‘;%'1@ A IS8 P e | 2@ K EE3E TIERE $EaE TyEEE EE5E E MR
o g

i%
Hp
|

]: HEZ=MB(20220808)

Bﬁ F1E ETM F2E AR $E3E — F4E HIRIR $E5E ThIRE

AEEEE AEEEE AEEEE s B
1) SIERIB0.56 AR 1) UERE0.62AE
1) BB Tt _ AL 4AE 1) FE LR _MERE_ 24
1) & T b R 14508 1) KSR FHIRERKBHE R A
B13AE

2) B LREEFE EH_18AE

1) 225575 _FEMRT AR

2) BB T IEF_KA&RL0.5AIR

3) 20RtE_/KAR0.8 AR

4) B NERE_IKZTANE

5) & MER(ERR)_IKARLSAE

(2



